
CHEMISTRY

BOOKS - UNITED BOOK HOUSE

MODEL PAPER 14

Exercise

1. Which one among the following is correct for

orthorhomic system

A. a ≠ b ≠ c, α = β = γ = 90∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_d3j3RdjeasmZ


B. 

C. 

D. 

Answer:

Watch Video Solution

a = b = c, α ≠ β ≠ γ90∘

a = b = c, α = β = γ ≠ 90∘

a = b = c, α = β = γ = 90∘

2. Quantity of charges required to reduc ei mole

 us

A. 3F

B. 0.3F

Cr2O72 − → Cr+ 3

https://dl.doubtnut.com/l/_d3j3RdjeasmZ
https://dl.doubtnut.com/l/_1p2T0N96CAEx


C. 6F

D. 0.6F

Answer:

Watch Video Solution

3. Which one of the following is appliable for

adsorption

A. 

B. 

C. 

ΔG > 0

ΔS > 0

ΔH < 0

https://dl.doubtnut.com/l/_1p2T0N96CAEx
https://dl.doubtnut.com/l/_QFbMeA0ag71C


D. 

Answer:

Watch Video Solution

ΔH > 0

4. In the manufacturing of  is primarily

oxidised to

A. 

B. 

C. 

D. NO

2HNO3, NH3

N2

NO2

N2O

https://dl.doubtnut.com/l/_QFbMeA0ag71C
https://dl.doubtnut.com/l/_vTenyeFu9ZU0


Answer:

Watch Video Solution

5. Transitional metal ions shows colour due to

A. Absrobs light

B. Emits light

C. paramagnetic

D. d-d transition

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_vTenyeFu9ZU0
https://dl.doubtnut.com/l/_a5YR44VALYPE


6. Which one is not expected to be a ligand

A. NO

B. 

C. 

D. CO

Answer:

Watch Video Solution

NH + _ 4

NH2CH2CH2NH2

https://dl.doubtnut.com/l/_a5YR44VALYPE
https://dl.doubtnut.com/l/_36uncxq5DanY


7. Which of the following gives propyne on hydrolysis

?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ClCH2CH2Cl

CH3Cl3

H3CHCl3

CH3 − CH2 − CH2 − OH

https://dl.doubtnut.com/l/_arpjjqnNjM4Z


8. Which one does not response to haloform

reaction?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 − CH2 − CH2 − OH

CH3CH2OH

CH3CH(OH)CH3

CH3CHO

9. Which one does not give positive Tollen's test-

https://dl.doubtnut.com/l/_qHdUfN4lqRXN
https://dl.doubtnut.com/l/_eWOymDtpLij8


A. 

B. HCHO

C. HCOOH

D. 

Answer:

Watch Video Solution

CH3CHO

CH3COCH3

10. Methyl amine when reacts with  produces

A. 

B. 

HNO2

CH3 − O − N = 0

CH3 − O − CH3

https://dl.doubtnut.com/l/_eWOymDtpLij8
https://dl.doubtnut.com/l/_DVJ8mGhj5t0T


C. 

D. 

Answer:

Watch Video Solution

CH3OH

CH3CHO

11. RNA does not contain

A. Adenin

B. Urasil

C. Thymin

D. Cytosin

https://dl.doubtnut.com/l/_DVJ8mGhj5t0T
https://dl.doubtnut.com/l/_ITCJO98Cr55e


Answer:

Watch Video Solution

12. Which one is a natural polymer

A. Polythin

B. Cellulose

C. Polyvinyl chloride

D. Nylon-6,6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ITCJO98Cr55e
https://dl.doubtnut.com/l/_EynvfrT8YKr3


13. Salol is

A. Anteseptic

B. Antepyratic

C. Antacid

D. Tranguilizer

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_EynvfrT8YKr3
https://dl.doubtnut.com/l/_apKuyXDXvPi7


14. Which one of the non caloric artificial sweetening

agent used in food

A. Surcrose

B. Glucose

C. Aspertame

D. Sucralose

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hSHcLR6VAOZr


15. Velocities of Cations and anions of the

electrolytes produces in salt bridge is_____.

Watch Video Solution

16. _________ Faradays current when passed through

 solution produces 10.788 gm Ag at cathod.

Watch Video Solution

AgNO3

17. Give an example of homogeneous catalyst.

Watch Video Solution

https://dl.doubtnut.com/l/_0ohopWvAaRXV
https://dl.doubtnut.com/l/_LA3vvyRAUoIG
https://dl.doubtnut.com/l/_U5YdSd1RjTNR


18. What is poling process?

Watch Video Solution

19. Which one is more stable and why  or 

?

Watch Video Solution

Fe2 + Fe3 +

20. What is the chemical name of Aspirin?

Watch Video Solution

https://dl.doubtnut.com/l/_eHb5Qprtcl36
https://dl.doubtnut.com/l/_0RyCECVLYQGw
https://dl.doubtnut.com/l/_2pqtY1jV1yli
https://dl.doubtnut.com/l/_rO4qBqu3pN1O


21. Why the boiling point of salt water is higher than

pure water?

Watch Video Solution

22. State the conditions for ideal solution.

Watch Video Solution

23. Why alum is used in small cut during shaving?

Watch Video Solution

https://dl.doubtnut.com/l/_rO4qBqu3pN1O
https://dl.doubtnut.com/l/_IW4sw6BJvQFg
https://dl.doubtnut.com/l/_I8udMCPnwsSa


24. Write two differeneces between physisorption

and chemisorption.

Watch Video Solution

25. Give an example of reducing nature of .

Watch Video Solution

SO2

26. Why phosphine shows reducing nature instead of

oxiclising nature?

Watch Video Solution

https://dl.doubtnut.com/l/_JPrxu2DRLz4L
https://dl.doubtnut.com/l/_ZJR1Br6hl3Yo
https://dl.doubtnut.com/l/_cMrKomUi4oPG


27.  is tetrahedral but diamgagnetic why?

Watch Video Solution

[Ni(CO)4]

28. State the structure and name of monomer unit of

natural rubber.

Watch Video Solution

29. What is the packing efficiency of bcc lattice? If the

diagonal of bcc unit cell be  find the radius of the

atom.

Watch Video Solution

8√3

https://dl.doubtnut.com/l/_KjS65dwCg084
https://dl.doubtnut.com/l/_wDXMZp61jifj
https://dl.doubtnut.com/l/_v3cQbrw2NreP


Watch Video Solution

30. A metal forms a face centgred cubic lattice. If the

radius of the atom be  find the radius of the

atom.

Watch Video Solution

1.28 ∘ A

31. 34.2 gm Sucrose (Molecular wt 342) is dissolved in

1000 gm of water. Find the freezing-point of the

solution 

Watch Video Solution

kf = 1.86KKgmol− 1

https://dl.doubtnut.com/l/_v3cQbrw2NreP
https://dl.doubtnut.com/l/_MdGgtrCILMTf
https://dl.doubtnut.com/l/_4QD2c5j7fD3y
https://dl.doubtnut.com/l/_u6G3uvDEbfj7


32. Find the osmotic pressure of a solution at 

when 10 gm Glucose and 6 gm urea is dissolved in

500 ml water.

Watch Video Solution

27∘C

33. Calculate the EMF of the electrochemical cell for

which the following cell reaction is given below- 

 


Given 

Watch Video Solution

Zx(S) + ni2 + (aq) → Zn+ 2(aq) + Ni(S)

E ∘
zn2 / zn = − 0.76VENi2 + /Nl = − 0.25V .

https://dl.doubtnut.com/l/_u6G3uvDEbfj7
https://dl.doubtnut.com/l/_UUyI6oDxeeKx


34. Calculate the E.M.F. for the cell given below and

identify the cathod and anode. 

 


Watch Video Solution

Mg(S)∣∣Mg2 + (0.001M)∣∣∣∣CU
2 + (0.01M)∣∣Cu(S)

EMg2 + /Mg = − 2.36V and ECu2 + /Cu = + 0.34V .

35. Why CuO can be carbon reduced but not CaO?

What is gaung?

Watch Video Solution

https://dl.doubtnut.com/l/_uANwhL8BI2Wz
https://dl.doubtnut.com/l/_JXBvnK3QLJxC


36. Write differences between roasting and

calcination. Name a basic flux?

Watch Video Solution

37.  is blue coloured but CuCl colourless.

Explain why? State the general electronic

configuraiton of 'f' block element.

Watch Video Solution

CuCl2

38. Name the aldehyde which response in haloform

reaction

https://dl.doubtnut.com/l/_92ydEoOFqJXO
https://dl.doubtnut.com/l/_och54qg96Lb2
https://dl.doubtnut.com/l/_Zv4b1XYbe3Wr


Watch Video Solution

39. How would you chemically differ ethyl chloride

and chlorobenzene?

Watch Video Solution

40. Give one example :- 

Carbyl-amine reacion.

Watch Video Solution

https://dl.doubtnut.com/l/_Zv4b1XYbe3Wr
https://dl.doubtnut.com/l/_FaFs2JtNR2aC
https://dl.doubtnut.com/l/_veQ8YSZDVnXC


41. Give one example :- 

Dkiazo coupling reaction.

Watch Video Solution

42. Give one example :- 

Hoffmann degradation reaction

Watch Video Solution

43. State the chemical equation when potassium

thalimide is strongly heated with ethyl iodide and

https://dl.doubtnut.com/l/_60s4mcYzgQif
https://dl.doubtnut.com/l/_7swLTFwgCJPj
https://dl.doubtnut.com/l/_hU5ulO7JleRj


the product thus obtained is hydrolysed by KOH

solution. What is Hinsberg reagent?

Watch Video Solution

44. Identify A-F 

Watch Video Solution

CH3COCH3

Mg−Hg

−−−−→
dryether

A

45. Identify B 

Watch Video Solution

CH3CO2H
RedP +Br2
−−−−−−→

H2O
B

https://dl.doubtnut.com/l/_hU5ulO7JleRj
https://dl.doubtnut.com/l/_uRmepXPbzUeE
https://dl.doubtnut.com/l/_hAsSgp78HFZn


46. Identify A-F 

Watch Video Solution

CH3CHO
Al (OC2H5 ) 3
−−−−−−−→ C

47. Identify D 

Watch Video Solution

CHO
∣

CHO

50 %NaOH
−−−−−−→ D

48. Identify D 

CH3CN
SnCl2 /HCl

−−−−−−→ D

https://dl.doubtnut.com/l/_hAsSgp78HFZn
https://dl.doubtnut.com/l/_GnPy3LUsPFY0
https://dl.doubtnut.com/l/_eyVplBc9xSnc
https://dl.doubtnut.com/l/_LZQ24rNPb0G2


Watch Video Solution

49. Identify F 

Watch Video Solution

CH3CO2H
AgOH

−−−−−−→
Br2 −CCl4

F

50. What is Mutarotations? What will happen when

Aldohexose reacts with ?

Watch Video Solution

NaBH4

https://dl.doubtnut.com/l/_LZQ24rNPb0G2
https://dl.doubtnut.com/l/_cyCsEfhslF3H
https://dl.doubtnut.com/l/_boHysy3sKy5S


51.  


The above reaction is carried out in a closed

container. After 5 sec concentration of  is

increased by  mole . In this time

interval find (a) Rate of the reaction (b) Rate of

disappearance of 

Watch Video Solution

2N2O5(g) → 4NO2(g) + O2(g)

NO2

4 × 10− 2 L− 2

N2O5

52. Give the Formula of Carnallite.

Watch Video Solution

https://dl.doubtnut.com/l/_aqlemU2Gk4Y2
https://dl.doubtnut.com/l/_SwvlQ2ys61CH


53. Half life period of a first order reaction 15 min.

Calculate the rate constant and time for 80%

completion of the reaction

Watch Video Solution

54. State with balanced chemical equation. 

 is heated with concentrated HCl.

Watch Video Solution

K2Cr2O7

55. State with balanced chemical equation. 

 solution is treated with AgNO3 PH3

https://dl.doubtnut.com/l/_SyHrM9IYRlum
https://dl.doubtnut.com/l/_1jcMYbqFth67
https://dl.doubtnut.com/l/_sPCbU1s1KLWg


Watch Video Solution

56. Carry out the following coversion in possible

minimum steps. 

 


 


Watch Video Solution

CH3CHO → CH3COCH3

CH3CHO → CH3CH = CHCHO

HCOOH → COOH
∣

COOH

57. How would you chemically differ by a single

chemical reaction. 

(CH3CO)2O&CH3COCl, CH3CH2OH&CH3COCH3

https://dl.doubtnut.com/l/_sPCbU1s1KLWg
https://dl.doubtnut.com/l/_SQ4lQ8YtRNs3
https://dl.doubtnut.com/l/_1bYX5x1YORB9


Watch Video Solution

https://dl.doubtnut.com/l/_1bYX5x1YORB9

